
Schopeof tulsimation to
Simple Linew Regussing Deisim rule: "remedynon-unity SSxy:Zvxi-x/cyi-ys:Zxiyi-'[xiszy

is

Full the Least - Syme Line). Reject HolyIsFu, who
SSxx=2xi-x=Ixi-1Exis

N

B=uzE,xiy;-[EXiZiE yi Far is based meal.mens
Try tayury;jut. It Inteportation ofthe B. mL Boin SR.

n2i=xi-12E, Xil
olegees offelon i Try thywiy X ud/wY,

13:Reposses the prolical value ofy
when Xiu.

Bo =i[E,yi-B, 2,x: Enor trun:Ei but chose the viable
1:Repusents the increase or decouses

in or every 1-nit

The ructure evers Try touring &fat.
with wider range increase in X. IVatial whywhen X-values within the ruge

Competitial Fundsfor SurreySques are independent
reduce

I-st. ofsupple date).

vaiables that are normallyRemerll measurefor non-constant Interpartitionofs, the Estate(StrfulDeration(50.
SSE:Z,yi" - B.ZE, yi-1,2, Xiyidistribute with men o Varance:Most involve anyone we expect must pitsofthe obserlyvalues

SSE:SSTO-SSK
and niece o o Y. Titelve: Sfor logiss), to lie within 25oftheir respective leastsques

Remalink to Nm-Numality purcical values. "

SSL-ISEx I Underlying Assumptics ofthe Male. Usuallynon-rumlity and now. Smpling DestibutionofB.
1. Limerity:Yuolx are lining

relatalcust vine over together. Op $5, as the estimal
side ever

2. Normality:Rakun errors are normally
So just me measuresfor non-of the hust symes slope .

SST0= Yi-y, distributal.

Corstnt Unience.

Figurs we read to know to castect a

=yi 3. Custnt vrase:Error uniece is

Test for Live Carrelation

Least symes:
constant across all valuesfor the cruciated. to ==inmates......stitCoeficent ofDetuminating 4. Independence:Errors associal with the

R=
observing are mutually indepolent. One-til tests 3. Sumothe proletofxaly:Exy:

C=AB,
=Sun:2: Ch)

Note:O ? K"I
Hetersedenticity 10: P =0 Hu:pso 4.Sumof the sques of the x: 2x

"

When the requirementofa content
5. Numberofdate points

(n).

"Luge""moderte" "Low" vniauce is violetal we have a cardition Ho:=0 Ha:pso

ofhetursuclesticity, Two-tailedTest
ANOVA Table: In SUR Cutrat)

CoeficientofCaventation fanymssins:1
Examing the residul plots:Detectionof H0:p=c Ha:p+ o

-residet):n
-2

rix"i Biso; nulinity and heterosadticity.
Andysis ofVauce:ANOVA) -toth):

m-1:1+n-2)

or-if 1, 20 The resident plotfus notarous in · SSR=Z,ni-Vi-X,"

Voice isnot constant.
Victim in y=

$31+SSE
· SSE:2,X-Xis

V =
nz,,xiyi-2,xi), 2yi)

Fans out:the unience isincreasing V=Vexplial by the regress line. SSTU:Z,xi-is"
nExi"--Exi4x nZyi-yi4 as afuctionofthe covariate y. +Unexphiel viction errors.Russian instantNote:-13131 and 121>R" Fasin:the vaience is a decreasing

yi:actal value

i v =0 -> Onlythere
is no linew Junctiono X. guie

SSR:Kx SSTO i Yi:pualical value
relitously between x maly. That Detutionofconnormality:

Exaring the normal probability to testfr SLR -Yi-y, I:memory.
doesn't implythat there is no renteship

plotofthe residuals. Ho:131=0 vs. 4a:13, 70 Smery Vivim of35
between these vnibles.

Cook's distuce t= Kesson.ExinisCarolution does not imply consation

Measuryinhereof a data Resicul

point.
Otherfund Simple Liner

F-test under ANOVAIn smple crew. Dis 2: Hee high ifiume. Regussun Totul n-12.Xi-X,"

vegessen
world.

Bemedling Measues: Power Tryu-hus).
13:*

3 =E

Ho:B, =0 vs. Hw:, to Tijutes on dep.ver on intro. Boiy-Bix
SSyy:Zcyi-y,- I

Square Kurt /Y SSE:SSyy-13:SSxy
Test Setstic:I: Long ly:Ys Log (x)

=Elgin,-
Invest / 'IX



S-sis:
· Predictionofan individual value of y at a1, Isis given valueofx =xp.

of:n-2

Residuls:ei=fi-yi, i =1.2..... meabutBo. Intral estimationo E) at x =xM.

Error SmoSyues, SSES: My not be meaningful unless
Paint Estimate( I (Y): Yu =B+, xme

cute is available at or new X=0.

I?_, ei Crialace Interat:"you+ tosiue)
Estimationo0"Mean Symed Error

Cyndue intentin Bo
where sins is the stotal even ofthe estimate

⑮ It.syss "You given by:
6 ==Eesti whe sysis is the stout

Siyns =".IAmI
error of to given by:

Competitional Jumia fu 0"

= ZY XY Suple:Castract a 45% opiduce interolfor Ents at
6=ic Iz,yi - B.ZE, y:-B, IE, xy: I n. ?, Xi-Ys X =5. This is an estimateof the average annot

=

Xi Salary of all people with 5yews ofexperience.
Injure aboutmalt promets.

uI2xi-xis "yuu= -0.65 +14.229 x -5) =70.47

Inference abut B, Scyms:19.01xdI57:5.80
To test Io:B, =b Test ofhypothesisfor 10 ↳ 70.47 =2.228 x5.80 -> 157.55.83.393.

TestStatistic:t:A To test 10: 130: a

where suis is the started error tothe Test static:1:Ait
Predictive inter of Y at x =xp

estimate , all is given by:
Best predictor ofY:Yp = 10 +15,xp

x2 Decision Rule: Purdiction Interal:"pI thS"ps
6

shis:2,y, x-Exis Ho:Bo=n vs. Hu: Bosa Sendul Errorfor ip:
Reject Hoits to e

Decision Rute:
Syss =0.11++xE,Ho: Bo =a vs. a: Bo> a

Ho: Bi =b vs. Hu:B, 3b

Reject toits-ta Shp)="+S"yu)
Reject Hoii t> ta

Ho:Bo=a vs. Ha:ofa Sample: Construct a 95% prolictic interalof yat
Ho: Bi =b vs. Hu: ,<b X =5. This pudiction interal provides a

RejectHrifts-tz or

Reject Ho (it s-ta saleyestimate for an individul with 5

Ho:Bi =b vs. Ha:B,*b i ts t= yeas ofexperience.

RejectHoif ta-thm(its to to not the rules we boat m n-21 of. Yp = -0.675 +14.229-151
=70.47

to not the rules me bond min-21 oy. Cara ratinalfor sigfirience testing in Scis =19.411+514T =20.45

Ho: B = 0 -> No Liew relationship between reyessin
mrole:"To testifthe slope

the dependent variable cy) and covariatex. Ifaferentfor 0.
" ↳ 70.47-2.228 x 20.45- 124.91.116.03)

Hu: BI to -> Syget the existencefor a Note:The pudiction interalfuY at x=5 is

liven releiership. Fifience about the dependent variable. significallywider than the enficence
Two typesof ince: interal fu Eiys at X=5.

Infrence about B: Cficuce Interal: Infine about the menby

Confidence intral for B, with expect value ofy or Es) Calulub: · Inverse T:in+10.975.6) -> 2.4469)

apidence creficient, I as
at agiven value of IncseI:inv7,0.95.1.10) -> 4.9646

X =Xue.


